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A 2N wFoEE
2Rt AT 2 S A|AE 7HE (Excitation of a 2DOF-spring-mass system)
» HE =M 291
1. /23448 AMIH2 ‘SMDS_Cal'® Ol BEY TOI(AY 1) L Model informetion deta
Al2®ol 1&t2A DgFa-8 Solsict (O 2) 1) MAss [ L
2. FOSZHTAC| MU 7D FOSIHTALE WSIAIF|BIA [ Moot teome: s -
ﬂ%% E}g“o"_}[:]» « Mass of the Sensor ; 0.068 kg 0068 kg
3. FHRIZEISE 1K0] XA TS 1% BES RoIT HE | Mewctteum: T
 3o40AS| 7t5E 2T o2 Solstth (1Y 3) ...n...,....u..,.,..... oy é%ou
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rpme 2 H7|8H o2 AN A|ANE JHHSlE Fii4Es - Spring Coef. : W0 Nm 230 N/m 230 Nm
Z=71(1:2)E 12{5tojof & - Number of the Spring : 2 B 2 B 2 B
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(1) 2E TI= [mm] AlLE (axteaxt = 281 2 = 5 47))
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